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(3·108 ) · (9·105 ) =

3·9 · 108·105 =

27 ·1013=

(4,3·10-6)·(7·10-4) =

4,3·7 · 10-6·10-4 =

30,1·10-10=

3,01·10-92,7·1014 www.yo
qu

ier
oa
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ba
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s



(1,8·108 ) : (6·10-4) = 

1,8:6 · 108:10 -4 =

0,3 ·108-(-4)=

(1,6·1016) : (2·107 ) =

1,6:2 · 1016:107 =

0,8 ·109=

0,3·1012=

3·1011

8·108
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(8·107 ) · (9·103 ) =  

8·9 · 107·10 3 =

72 ·1010=

(2,5·10-5)·(6·10-3) =

2,5·6 · 10-5·10-3 =

15,0·10-8=

7,2·1011 1,5·10-7
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(7·105 ) : (2·102 ) =   

7:2 · 105:102 =

3,5 ·103

(15·104 ) : (2·10-3) =

15:2 · 104:10-3 =

7,5 ·107
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Suma y resta
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(7·105 ) + (2·102 ) =   (15·104 ) - (2·103) =

7·103·102 + 2·102 =

(7·103+2)·102=

7002·102=

7,002·102+3=

7,002·105

15·101·103 - 2·103 =

150·103 - 2·103 =

(150-2)·103=

148·103=

1,48·103+2=1,48·105
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(3·10-8 ) + (9·10-5 ) = (4,3·10-6) + (7·10-4) =

4,3·10-6 + 7·10-6+2 =

(4,3 + 7·102)·10-6=

704,3·10-6=

7,043·10-6+2=

7,043·10-4

(3·10-8 ) + (9·10-8+3 ) =

(3·10-8 ) + (9·10-8 ·103) =

(3+ 9·103 )·10-8 =

9003·10-8 =

9,003·10-8+3 =

9,003·10-5 www.yo
qu

ier
oa
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(1,8·102 ) - (6·10-4) = 

(1,8·10-4+6 ) - (6·10-4) = 

(1,8·106 - 6)·10-4 = 

(1,8·10-4·106 ) - (6·10-4) = 

1799994 ·10-4 = 

(1800000 - 6)·10-4 = 

1,799994 ·102

(3·10-2) - (2·102 ) =

(3·10-2) - (2·10-2+4 ) =

(3·10-2) - (2·10-2·104 ) =

(3 - 2·104 ) ·10-2=

(3 - 20000 ) ·10-2=

-19997 ·10-2=

-1,9997 ·102www.yo
qu
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oa
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4,1·10-3 – 21·10-4= 5,2·10-5 – 4,05·10-3=

4,1·10-4+1 – 21·10-4= 5,2·10-5 – 4,05·10-5+2=

4,1·10-4·101– 21·10-4=

(4,1·101 – 21)·10-4 =

(41– 21)·10-4 =

20·10-4 =

2,0·10-3

5,2·10-5 – 4,05·10-5·102=

(5,2 – 4,05·102)·10-5=

(5,2 – 405)·10-5=

-399,8·10-5=

-3,998·10-3www.yo
qu
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4,3·105 - 3·10-4= 0,2·10-3 – 1,3·10-6=

4,3·10-4+9 - 3·10-4=

4,3·10-4·109 - 3·10-4=

(4,3·109 – 3)·10-4=

(4 300 000 000– 3)·10-4=

4 299 999 997·10-4=

4,299999997·105

0,2·10-6+3– 1,3·10-6=

0,2·10-6·103– 1,3·10-6=

(0,2·103 – 1,3)·10-6=

(200– 1,3)·10-6=

198,7·10-6=

1,987·10-4www.yo
qu
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